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QUESTION 1

More than one backup instance has run. Given the same data set, which backup would be larger since the last full
backup? 

A. incremental 

B. differential 

C. copy-on-write snapshot 

D. ILM snapshot 

Correct Answer: A 

 

 

QUESTION 2

What is the maximum distance of a 50-micrometer multimode fiber a 850nm shortwave laser at 4 Gbps? 

A. 500 meters 

B. 300 meters 

C. 150 meters 

D. 70 meters 

Correct Answer: C 

 

QUESTION 3

What does the acronym SATA mean? 

A. Serial Advanced Technology Attachment 

B. SCSI attached Tunneled architecture 

C. Serial attached Tunneled architecture 

D. Serial Attached Technology Architecture 

Correct Answer: A 

 

QUESTION 4

You must implement a backup infrastructure for a remote office. This office has enough data to fill a single tape each
night. You can remotely schedule and control your backup server backups throughout the night. The staff at this site is
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not technical and will not touch the equipment. You only need to store the last five days worth of data these tapes. What
solution purchase and administrative costs? 

A. Deploy a tape autoloader with enough tape slots to support a new tape for each night 

B. Deploy a set of five individual tape drives to the backup server each with a tape preloaded then rotate the tape drive
you use each night. 

C. Deploy a tape library with multiple tape drives to ensure quick backup and enough tape slots to support a new tape
each night. 

D. Deploy a single direct attached tape drive to the backup server and instruct onsite personnel how to swap tapes to
ensure a new blank tape is available each night. 

Correct Answer: A 

 

 

QUESTION 5

What are two advantages of IP storage networking? (Choose two) 

A. greater security exposure 

B. lower cost infrastructure 

C. can use existing network management tools 

D. lower CPU overhead 

Correct Answer: BC 
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